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Let’s Guess!




first
It’s for Mark's
first birthday.

+ 1-one- the first (1st)

+ 2-two - the second (2nd)
+ 3- three - the third (3rd)

* 4-four - the fourth (4th)

+ B-five - the fifth (5th)

+ 6-six -  the sixth (6th)

+ 7- seven - the seventh (7th)
+ 8- eight - the eighth (8th)
* 9-nine -  the ninth (9th)

+ 10- fen - the tenth (10th)




Ist - first

2" — second
3rd — third
4t — fourth
5t — fifth

6" — sixth
7" — seventh
8" — ei1ghth
Ot _ ninth
10" — tenth

11* — eleventh
12% — twelfth

13% — thirteenth
14" — fourteenth
15" — fifteenth
16™ — sixteenth
17" — seventeenth
18" — eighteenth

19t - nineteenth
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AFFIRMATIVE | NEGATIVE | INTERROGATIVE
I WAS |l WASNT  [WAS Fut
YOU  WERE |YOU WERENT (WERE ~ YOU .7
HE HE ™ HE .. 7
SHE — WAS |SHE >~ WASNT |WAS = SHE..?
T it AT Wt
WE ™ WE " WE .7
YOU > WERE |YOU > WERENT |WERE < YOU..?
THEY_.. THEY _. _ THEY... ?
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